IE-5708N

Moa. Ne HaunmenoBanune udp nerann
68.  Crarop MI1B13.6
73.  IIpoOka MI1B13-16
75.  lllerkoxepxkaTeib MI1B13.2
76. Illerka MI1B13.3
77.  TlpyXHuHa KOHTaKTHas MI1B13.6.1
82.  Illaiiba npyxxunnast M6 DIN 127 215402-A
83.  Bunat M4x30 DIN 84 216610-A
84. Ilnanka M1B13-08
85.  Bunat M4x12 DIN 965 216305-A
86.  Amantep IE-5708B.0000.077 5708B0000077
87.  Bunt M6x20 DIN 84 216617-A
88.  Illaiiba npyxxunnast M6 DIN 127 215402-A
89.  Ilaii6a M6 DIN 125 215253-A
90. Bunt M4x16 SPEZ 16zn 215779-A
91.  Ilaiiba M4 DIN125 215257-A
92.  Bunt M4x30 DIN 84 216610-A
93.  JIpocenb MI1B13-93
94.  Tpy6ka zammTtHas [E-5709.00.00.18-01 570900001801k
95.  Kabexns B coope HOSVV-F (PVC) 2x1 301396
96. Brynka M1B13-03
97.  Kopmyc a1ekTpoasurareins MI1B13.8
98.  Kpsliuika s5eKTpoABUTaTeNs M1B13-27
99.  BunTt M4x13 SPEZ 172n 215781

IIpumeyanus:

1o3. 35%, 37* u 62* — "pydeliKoBbIi" peMEeHb M IIKHUBBI I PEMHS 3TOTO HCIIOIHEHUS



